BID SUMMARY July 19, 2010

■ No. CC071910-02.1 – One (1) New Type I Four Wheel Drive Class I Star of Life Certified Ambulance (Opened July 6, 2010)

ADVERTISING AUTHORITY

\$180,000.00

BIDDER	UNIT PRICE	TRADE-IN	EXTENDED PRICE
Medtec Ambulance Corp. &			
Conrad Fire Equipment*	\$193,172.00	(\$3,000.00)	\$190,172.00

No. CC071910-02.2 – Ninth Street Water Main – Project No. W10-1885 / CIP No. 50815 (Opened July 13, 2010)

ADVERTISING AUTHORITY

\$100,000.00

BIDDER	BASE BID
Engineer's Estimate	\$114,105.00
Hills Materials Company	\$89,536.25
Simon Contractors of SD Inc.	\$106,458.50
RCS Construction Inc.	\$120,316.28
Highmark Inc.	\$82,816.26

No. CC071910-02.3 – Saint Patrick Sidewalk Repairs and ADA Upgrades – Project No. ST10-1874 / CIP No. 50809 (Opened July 13, 2010)

ADVERTISING AUTHORITY

\$35,000.00

BIDDER	BASE BID
Engineer's Estimate	\$57,597.00
KRM Concrete	\$54,210.20
Simon Contractors of SD Inc.	\$68,237.00
Brewer Construction	\$36,108.60

BID AWARD SUMMARY

LETTING DATE: July 13, 2010

PROJECT: Ninth Street Water Main

Project No. W10-1885 / CIP No. 50815

RECOMMENDATION: Award Total Bid in the amount of \$84,816.26 to

Highmark, Inc. at the July 19, 2010 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS	TOTAL BID
Highmark, Inc. Hills Materials Company	\$ 84,816.26 \$ 89,636.25
Simon Contractors of SD, Inc.	\$106,458.50
R.C.S. Construction, Inc.	\$120,316.28

City staff recommends awarding this project to Highmark, Inc. for a total bid amount of \$84,816.26 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	Water Expansion	Water Matching Funds		
ADVERTISING AUTHORITY	\$100,000.00	\$30,000.00	\$70,000.00		
ENGINEER'S ESTIMATE	\$114,105.00	\$62,831.36	\$51,273.64		

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	Sewer	Water Matching Funds
COST CENTER		0934	0934
LINE ITEM		4381	4385
FUNDING CENTER		0602	0602
BID AMOUNT	\$84,816.26	\$49,167.65	\$35,648.61

PROJECT MANAGER:

Rodell Grosz

DATE: 7/16/10

BID TABULATION

NINTH STREET WATER MAIN

PROJECT NO. W10-1885 / CIP NO. 50815 BID LETTING DATE: JULY 13, 2010

				ENGINEER'S	S ESTIMATE	HIGHMARK, INC.		HILLS MATERIALS COMPANY		SIMON CONTRACTORS OF SD, INC.		R.C.S. CONSTR	RUCTION, INC.
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
1	MOBILIZATION	LS	1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$4,500.00	\$4,500.00	\$1,250.00	\$1,250.00	\$26,300.00	\$26,300.00
2	INCIDENTAL WORK	LS	1	\$2,220.00	\$2,220.00	\$3,000.00	\$3,000.00	\$1,780.00	\$1,780.00	\$500.00	\$500.00	\$4,700.00	\$4,700.00
3	TRAFFIC CONTROL PLAN	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00	\$900.00	\$900.00	\$640.00	\$640.00
4	TRAFFIC CONTROL	LS	1	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
5	SAWING	LF	815	\$3.00	\$2,445.00	\$2.50	\$2,037.50	\$2.00	\$1,630.00	\$3.00	\$2,445.00	\$1.23	\$1,002.45
6	REMOVE ASPHALT PAVEMENT	SY	449	\$7.00	\$3,143.00	\$5.00	\$2,245.00	\$3.50	\$1,571.50	\$12.00	\$5,388.00	\$2.55	\$1,144.95
7	REMOVE CURB AND GUTTER	LF	78	\$6.00	\$468.00	\$10.00	\$780.00	\$3.50	\$273.00	\$15.00	\$1,170.00	\$2.55	\$198.90
8	REMOVE SIDEWALK	SF	253	\$4.00	\$1,012.00	\$2.00	\$506.00	\$1.00	\$253.00	\$3.00	\$759.00	\$2.66	\$672.98
9	IMPORTED BACKFILL MATERIAL (TRENCH)	CY	70	\$12.00	\$840.00	\$5.00	\$350.00	\$15.00	\$1,050.00	\$19.00	\$1,330.00	\$16.00	\$1,120.00
10	TYPE 1 BEDDING MATERIAL	TON	30	\$20.00	\$600.00	\$12.50	\$375.00	\$18.00	\$540.00	\$22.00	\$660.00	\$20.00	\$600.00
11	TYPE 3 FOUNDATION MATERIAL	TON	30	\$10.00	\$300.00	\$12.50	\$375.00	\$17.00	\$510.00	\$22.00	\$660.00	\$23.00	\$690.00
12	8" PVC WATER MAIN	LF	352	\$36.00	\$12,672.00	\$25.88	\$9,109.76	\$30.00	\$10,560.00	\$48.00	\$16,896.00	\$36.00	\$12,672.00
13	6" PVC WATERMAIN	LF	27	\$36.00	\$972.00	\$35.00	\$945.00	\$38.00	\$1,026.00	\$50.00	\$1,350.00	\$32.00	\$864.00
14	8" GATE VALVE W/BOX	EA	1	\$1,400.00	\$1,400.00	\$1,650.00	\$1,650.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00	\$3,100.00	\$3,100.00
15	8" X 6" REDUCER	EA	1	\$2,700.00	\$2,700.00	\$485.00	\$485.00	\$300.00	\$300.00	\$700.00	\$700.00	\$370.00	\$370.00
16	6" X 6" X 6" TAPPING TEE	EA	1	\$2,700.00	\$2,700.00	\$2,750.00	\$2,750.00	\$2,570.00	\$2,570.00	\$3,700.00	\$3,700.00	\$2,300.00	\$2,300.00
17	12" X 12" X 8" TAPPING TEE	EA	1	\$3,700.00	\$3,700.00	\$3,535.00	\$3,535.00	\$4,400.00	\$4,400.00	\$5,300.00	\$5,300.00	\$3,400.00	\$3,400.00
18	8" X 8" X 6" TEE	EA	1	\$500.00	\$500.00	\$560.00	\$560.00	\$650.00	\$650.00	\$1,050.00	\$1,050.00	\$690.00	\$690.00
19	FIRE HYDRANT W/AUX VALVE BOX	EA	1	\$4,000.00	\$4,000.00	\$3,760.00	\$3,760.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$4,900.00	\$4,900.00
20	WATER MAIN ENCASEMENT	EA	1	\$600.00	\$600.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,800.00	\$1,800.00
21	1" COPPER WATER SERVICE LINE	LF	233	\$32.00	\$7,456.00	\$20.00	\$4,660.00	\$32.00	\$7,456.00	\$33.00	\$7,689.00	\$36.00	\$8,388.00
22	1" TAPPING SADDLE	EA	5	\$275.00	\$1,375.00	\$150.00	\$750.00	\$350.00	\$1,750.00	\$475.00	\$2,375.00	\$240.00	\$1,200.00
23	1" CURB STOP AND BOX	EA	5	\$325.00	\$1,625.00	\$200.00	\$1,000.00	\$425.00	\$2,125.00	\$520.00	\$2,600.00	\$350.00	\$1,750.00
24	CATHODIC PROTECTION	LS	1	\$2,747.00	\$2,747.00	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$5,500.00	\$5,500.00	\$2,400.00	\$2,400.00

				ENGINEER'S ESTIMATE		HIGHMARK, INC.		HILLS MATERIALS COMPANY		SIMON CONTRACTORS OF SD, INC.		R.C.S. CONSTRUCTION, INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
	CATHODIC TEST STATION	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$435.00	\$435.00	\$625.00	\$625.00	\$425.00	\$425.00
	GRAVEL SURFACING TEMPORARY	TON	50	\$20.00	\$1,000.00	\$16.00	\$800.00	\$40.00	\$2,000.00	\$38.00	\$1,900.00	\$20.00	\$1,000.00
	AGGREGATE BASE COURSE 1"	TON	152	\$150.00	\$22,800.00	\$16.00	\$2,432.00	\$45.00	\$6,840.00	\$27.00	\$4,104.00	\$20.00	\$3,040.00
	ASPHALT CONCRETE PATCH, CLASS G, TYPE 1, PG 64-22	TON	127	\$150.00	\$19,050.00	\$118.00	\$14,986.00	\$99.00	\$12,573.00	\$105.00	\$13,335.00	\$130.00	\$16,510.00
	CURB AND GUTTER TYPE B66	LF	78	\$25.00	\$1,950.00	\$20.00	\$1,560.00	\$26.00	\$2,028.00	\$32.00	\$2,496.00	\$19.00	\$1,482.00
	CONCRETE SIDEWALK, 4"	SF	253	\$10.00	\$2,530.00	\$5.00	\$1,265.00	\$7.75	\$1,960.75	\$5.50	\$1,391.50	\$7.00	\$1,771.00
	WATTLES	LF	50	\$7.00	\$350.00	\$10.00	\$500.00	\$6.00	\$300.00	\$3.00	\$150.00	\$4.00	\$200.00
	INLET PROTECTION	EA	2	\$150.00	\$300.00	\$300.00	\$600.00	\$120.00	\$240.00	\$275.00	\$550.00	\$140.00	\$280.00
	EROSION CONTROL PLAN	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$280.00	\$280.00	\$625.00	\$625.00	\$285.00	\$285.00
	EROSION AND WATER POLLUTION CONTROL	LS	1	\$750.00	\$750.00	\$2,000.00	\$2,000.00	\$775.00	\$775.00	\$800.00	\$800.00	\$900.00	\$900.00
35	SODDING AND FERTILIZING	SY	200	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$14.30	\$2,860.00	\$19.00	\$3,800.00	\$15.00	\$3,000.00
	AASHTO T-180 SOIL TEST	EA	2	\$200.00	\$400.00	\$150.00	\$300.00	\$200.00	\$400.00	\$180.00	\$360.00	\$260.00	\$520.00
30	TOTALS				\$114,105.00		\$84,816.26		\$89,536.25		\$106,458.50		\$120,316.28

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this

Rodell Grosz
Project Manager

Contract awarded to _____ in the amount of \$_____ at the ____ Council Meeting.

